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QUESTION 1

Which log facility is used to log HTTP traffic by default? (Choose the best answer.) 

A. bcreportermain_v1 

B. main 

C. http 

D. elff 

Correct Answer: B 

 

QUESTION 2

What needs to be enabled for the Explicit HTTP service to be able to hand off SSL traffic? (Choose the best answer.) 

A. Early Intercept 

B. Detect Protocol 

C. Port 443 

D. Enable ADN 

Correct Answer: B 

 

QUESTION 3

Which deployment method represents a single point of failure? (Choose the best answer.) 

A. Explicit 

B. Basic 

C. Transparent 

D. Inline 

Correct Answer: D 

 

QUESTION 4

Which process should never be configured on external DNS servers? (Choose the best answer.) 

A. Bypass the ProxySG\\'s cache 

B. Use DNS imputing 
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C. Perform lookups on internal servers 

D. Perform reverse DNS lookups 

Correct Answer: B 

 

QUESTION 5

In which caching technique are objects that require more server-side bandwidth and response time less likely to be
deleted from the cache? (Choose the best answer.) 

A. Round robin 

B. Cost-based deletion 

C. Popularity contest 

D. Asynchronous adaptive refresh 

Correct Answer: D 
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